No op, Set x14, read x14, 3 consecutive no ops

» M ontSPICLET:0]
8 adcSdi 1
(-
g adcCsM 0
g adcsdo 0

Zoomed in view of write, read, no op

» B ocntSPICLET:0]
8 adcSpiClk
g adcCsh
g adcSdo

Write xD814000b, 32 spi clks using mode 0
1 usfrom fallmg edge of CONV/~CS to first SPI CLK

» W ontSPICLK[T:0] ' . 1041112713 14 %15 Y16 Y17 V1819 Y20 Y2122 /23 /24 25 Vo6 27 V28 Y20 30 Y31 /3233
g adcsdi
g adcCsM 0
g adcsSdo 0

500ns from last spi clk to rising edge of ~CS



read xC8140000

> M cntSPICLKT:0] 28 29 30 731 ;32

g adcSdi
1% adcspiclk
g adcCsM

& adcsdo

» B ontSPICLK]
g adcSpiClk
g adcCshM

4 adcSdo
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